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FTE : AT Aoy ol v @ o e 41 59 R 8

Q.No. 41: What type of mixture is smoke ? gl e gaR &1 fasor g ?
(a) Solid mixed with a gas (a) ¥ faf3@ o
(b) Gas mixed with a gas (b) 9 ¥ i
(c) Liquid mixed with a gas (c) u fafda =3

(d) Gas mixed with a liquid and a solid (d) %a vd 3 fAfda A
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16.

17.

22,

23,

RT BT HETar bl Y ¢
(A) 9 G

(B) UaMA ol

(C) U N O <

(D) RR ¥ T AR

T oo oY B § P G H SIS
I B 7
(A) oo

(B) I
€ d
D) %

A B ARG Tl & IR ¢
(A) TR
(B) Hered!

(€) A
(D) BERAN

Some amount of money becomes five times is
a fixed time at the rate of 6% annual simple
interest. How many times it will become in
the same time at the rate of 9% interest ?

(A) 6

B) 7

) 73

(D) 10

Purity of milk is tested by :
(A) Hydrometer

(B) Lactometer

(C) Stelgometer

(D) Thermometer

Find the odd one out from the following :
(A) Canal

(B) River

(C) Waterfall

(D) Pond

22.

23,
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YR T SETGNE $9 gam o ?
(A) 1948 30
(B) 1936 50
(C) 1942 30
(D) 1930 30

6 Wwd WHRY A & @ X 9 Blg
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(A) 6

B) 7
(C 75

(D) 10
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(C) TeoFTHReR
(D) AR

91 % 9 T B 9AIET
(A) =X
(B) I
(©) T
(D) drE



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

24. If TECHNOLOGY is written as 3291546487 24. 3fe f&fl @€ § TECHNOLOGY @I
how CONTENT can be written in the code : 3291546487 for@r wiaT & @S9 @i #
(A) 9435253 ;
B) 9453235 CONTENT ! forar SRy :
(C) 9453253 (A) 9435253
(D) 9452353 (B) 9453235
(C) 9453253
(D) 9452353
25.  Arun is heavier than Gagan, Mohit is lighter 25. 3% T & 4} & AfRd, Wd § ol 2|
than Jack. Pawan is heavier than Jack but U o9 § 4R 2 ﬁ’ﬁ TH ¥ &l B
lighter than Gagan. Who among them is : 5
i T 9 HaH 9N P @
(A) Gagan (A) T
(B) Jack (B) U®
(C) Pawan (C) TaA
(D) Arun (D) 3
26.  Select the one option which is different from 26. feg 7 fdpeal § 9 fawq @l gy -
other : (A) RST
(A) RST B) LNO
(B) LNO (C) UWX
€ UWX (D) CEF
(D) CEF
27.  Total Geographical area of Uttarakhand is : 27.  SRETS F G Armiferd &9 © -
Eg; 23’223 5q. ‘l:m (A) 53483 T faio
,480 sq. km.
©) 55483 sq. k. (B) 60480 g fapHio
(D) 65,480 sq. km. (C) 55483 T fobeito
(D) 65480 @ i
28. How many district in Uttarakhand ? 28. Tv@Eve ¥ foan Rl g ?
(A) 23 (A) 23
B) 14 (B) 14
©) 12 ©) 12
D) 13 (D) 13
29.  Maximum number of Thursdays in a leap year 29. U% v q¥ # [oaR| &1 3ifeidaq wem el -
(4) I (B) 52
(B) 52 ©) 53
© 33 (D) 54
(D) 54
R e e A T, o W e
[Set-A] 08-101 Page 3
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30.

31.

32.

33.

34.

35.

The angles between two needles at 5.15
O’clock will be :

(A) 60°

(B) 67.5°

(C) 69°

(D) 75°

Among the following which planet takes
maximum time for one revolution around the
sun ?

(A) Earth

(B) Jupiter

(C) Mars

(D) Venus

Four friend decided that the oldest friend
would get an extra piece of pizza. Madhuri is
two month older than Kanchan who is three
month younger than Sakshi. Prachi is one
month older than Kanchan. Who will get the
extra piece ?

(A) Madhuri

(B) Kanchan

(C) Shakshi

(D) Prachi

The sum of the ages of father and his son is 60
years. After 15 years, father will be twice as
old as his son. Their present ages are :

(A) 35,25

(B) 45,15

(C) 40,20

(D) 42,18

If JUNE is written as 1021145 then JULY
will be written ? :

(A) 10211225

(B) 10251210

(C) 12101512

(D) 12111510

Choose the right option :
Furniture : Wood :: Shoe: ?
(A) Wood
(B) Tree
(C) Leather
(D) Water

30.

31.

32.

33.

34.

35.
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(A)  60°

B) 67.5°

©) 69°
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= 3 319 a1 78 W F IR AR h gaa
& forg siftream W o & ?

(A) gl

(B) el

(€ ¥

(D) b

IR o 3 o fur & o A 9ew a8 @
fosa 1 sifaRad gaer fierm, wrd, @99 9
< A8 991 & o & arll 9 dF 9% e 2
U, a9 W TP AR g & ar fieen @
dfafed gaer b fAerm ?

(A) R

(B) ®a

(C) W

(D)

T 3k SHG g3 B AR FT AT 60 aF T}
15 99 d41g fOdr a9 g3 @AY W g
BRI | S9001 oA 3§
(A) 35,25
(B) 45,15
(C) 40,20
(D) 42,18
Ife JUNE @ 1021145 forar wmar @, o
JULY &I forar SR __ 2
(A) 10211225
(B) 10251210
(C©) 12101512
(D) 12111510
BN © dABe SR : ?
(A) B!
B) US
(C) dHsl
(D)
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36. If B denotes + E denotes — and D denotes x 36. Ife B &7 a1 + E &7 a1ef — a1 D &7 aid
then : x g ar:
10B5E4D4 =2 10BSE4D4 = 2
(A) 44 : (A) 44
& 1D B) 19
€) 54 (C) 54
(D) 49 D) 40

37.  Which river of the following rivers is not the 37. 3= Afegi # @19 I 78 T ! GeOd e
tributary of Ganga ? e
{A) Son A) i
(B) Indrawati ;

(C)  Gomti (B) ATl
(D)  Yamuna (C) I
(D) T

38.  What is the percentage of Nitrogen in the 38. aIgHvSd # Aggo &1 Wfow A= & J @
atmosphere ? 27
(A) 25% A) 25%

(B) 35% (B) 35%
©) 78% (C) 78%
(D) 10% D) 10%

39. Anyj is taller than Ram. Ram is taller than 39. IS H o 2] UH AR 9 oW 2]
Mohan. Mohan is shorter than Sohan. Who is AT GET YOI AR BT P £ ?
shortest among them ? ‘

(A)  Anuj i
(B) Ram (B) NH

(C) Sohan (C) e
(D) Mohan (D) HiEd

40. The opposite of day is : 40. faq @71 faudd 2

(A) Night A) @
(B) Light pp—
(C) Dark

(D) Rays © 3*‘*}?'
D) fdv
41.  Recently released film ‘Airlift’ is based onthe 41. Fdaq yeRid e wrfeowe fouas arf
::)rki‘?_ . TR 3eIRd 8 ?
mita achchan ﬁ
(B) Ram Pratap Singh () )
(C) Ranjeet Katyal (B) N1H Hdr i
(D) Igbal Haider (C) I T
(D) IHAA BaY
[Set-A] 08-101 Page 5
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42.

43,

44,

45.

47.

48.

Who is National Security Advisor of India ?
(A) Shri N.K. Nayyar

(B) Shri N.K. Singh

(C) Shri A.K. Dobhal

(D) Shri Som Nath

The full name of Hitler was :
(A) AdolfHitler

(B) Benedict Hitler

(C) Paul Hitler

(D) None of the above

The war of Plassey was held in :
(A) 1737 AD.
(B) 1757 A.D.
(C) 1767 AD.
(D) 1777 AD.

The first world war was held in :
(A) 1912 AD.
(B) 1914 A.D.
(C) 1916 AD.
(D) 1918 A.D.

The former nam: of Swami Vivekanand was :
(A) Surendra Nath Dutt

(B) Siddhartha

(C) Narendra Nath Dutt

(D) None of the above

The waterloo war was held in:
(A) 1815A.D.

~(B) 1817 AD.

(C) 1818 AD.
(D) 1819 A.D.

India’s first ‘forest college’ established in 48.

1878 was :

(A) F.R.I. Dehradun
(B) Pantnagar

(C) F.T.I. Dehradun
(D) F.R.I. Kerala
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43,

45.

46.

47.

RA & U RETT AARHR DI & 7
(A) AN WD TR

®) @ s R

(C) M Ud. M

(D) & G

feeeR &1 [ AW o :

(A) TS feeer

(B) W fReeRk

(C) U fReer

(D) SHH # W BIg T
RN BT g BT AT

(A) 1737 %0

(B) 1757 %0

(C) 1767 %0

(D) 1777 0

v fawg gg gom o -

(A) 1912 0

(B) 1914 30

(C) 1916 %0

(D) 1918 30

W fder< &1 qd T o :
(A) o= A &

B) Rigri

(C) M= I &

(D) SUga ¥ P T

drexe] & g3 T -
(A) 1815 30

(B) 1817 0
(C) 1818 30
(D) 1819 30

RA & WA 99 Agifdarerd’ 1878 § w@rifid
BT o1

(A) THIRIAE BTG

(B) UG

(C) TR &I
(D) UPB.IARIAE. PY
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49.

50.

al.

53.

54.

33.

[Set-A] -

Which of the following game is not included
in Olympics ?

(A) Hockey

(B) Cricket

(C) Swimming

(D) Volley ball

‘World Ozone Day’ is celebrated on :
(A) 21 April

(B) 5 June

(C) & September

(D) 16 Sepiember

Bharat Heavy Electricals Limited is located at :
(A) Haldwani
(B) Haridwar
(C) Rishikesh
(D) Pantnagar

*World Tourism Day” is celebrated on :
(A) 5 September

(B) 14 September

(C) 27 September

(D) 10 December

The best feature film in 62™ National fiim
award is :

(A) Bajrangi Bhaijan

(B) Court

(C) Queen

(D) None of these

ICC World Cup 2015 winner team is :
(A) New Zealand

(B) South Africa

(C) Pakistan

(D) Australia

Which one of the following is not a
fundamental right ?

(A) Right against exploitation

(B) Right to equality

(C) Right to property

(D) Right to freedom of religion

49.

50.

51.

52.

33,

54.
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37.

38.

.

60.

61.

62.

56.

ROM stands for :

(A) Read Once Memory
(B) Read Only Mode
(C) Read Only Memory
(D) Row One Memory

The full form of USB is :
(A) Unique Special Bus
(B) Universal Special Bus
(C) Unique Serial Bus
(D) Universal Serial Bus

Which of the following feature will help us in
inserting a picture in MS Word document ?
(A) Image Art

(B) Clip Art

(C) Picture Art

(D) Graphic Art

In computers which of the following are the
shortkeys for paste ?

(A) Alt+P

(B) Ctrl+V

(C) Shift+P

(D) Ctrl+P

Which one of the following is the windows
program key combination for undo ? :

(A) Ctrl+C

(B) Ctrl+X

(C) Ctrl+V

(D) Cul+Z

Which river is famous for River Rafting in
Uttarakhand ?

(A) Ganga

(B) Bhilangana

(C) Kali

(D) Yamuna

How many seats are reserved for schedule
tribes in Uttarakhand legislative assembly ?
A) 1

B) 5

<€ 2

(D) 13

56.

7.

58.

59.

60.

61.

62.
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©) Rme +d

(D) gldl +
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(D) gl + W8
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PF W E?

(A) M

(B) e

(C) redl

(D) g

SRS g § g S 8q
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(A) 1
B) 5
© 2
(D) 13
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63.

65.

66.

67.

68.

69.

[Set-A]

Important  tourist place  ‘Khirsu’
Uttarakhand belong to which of following
district ?

(A) Tehri

(B) Pithoragarh

(C) Pauri

(D) Chamoli

The name of Garhwal in Skandpuran is ?
(A) Kedar-Khand

(B) Manas-Khand

(C) Himalaya Khand

(D) Jalandhar Khand

From Uttarakhand who got the first Param
Veer Chakra ?

(A) Major Somnath Sharma

(B) Major Gabbar Singh

(C) Major Shaitan Singh

(D) Major Saurabh Kaliya

Which one of the following is called the
‘Queen of hills™ ?

(A) Nainital

(B) Dhanoalti

(C) Mussoorie

(D) Almora

Shiv Prasad Dabral is known as :
(A) Politician

(B) Philosopher

(C) Historian

(D) Poet

Source of Bhilangana river is:
(A) Chorabari Glacier

(B) Satapanth Glacier

(C) Milam Glacier

(D) Khatling Glacier

Founder of ‘Dasholi Gram Swaraj Sangh” is :
(A) Chandi Prasad Bhatt

(B) Sunder Lal Bahuguna

(C) Gaura Devi

(D) Anil Joshi

08-101
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70.

71.

2.

73.

74,

19

76.

Place described as ‘Nandan Kanan’ in
Mahabharat is presently known as :

(A) Dayara Bugyal

(B) Valley of Flowers

(C) Bedni Bugyal

(D) Har ki Doon

Pancheswar Dam proposed over river :
(A) Ganga

(B) Yamuna

(C) Kali

(D) Nong of the above

Wadia Institute of Himalayan Geology
(WIHG) situated at :

(A) Delhi

(B) Dehradun

(C) Nainital

(D) Rishikesh

Mughal Prince who took shelter in Srinagar
Garhwal :

(A) Murad

(B) Aurengich

(C) Darashikoh

(D) Suleman Shizch

Which of the following lake is called Gandhi-
Sarovar ?

(A) Chaurabadi Tal

(B) Nachiketa Tal

(C) Aachri Tal

(D) None of the above

Largest wildlife sanctuary of Uttarakhand is :
(A) Govind Wildlife Sanctuary

(B) Kedarnath Wildlife Sanctuary

(C) Askot Wildlife Sanctuary

(D) Sona-Nadi Wildlife Sanctuary

When was the name of Uttaranchal changed
as Uttarakhand ?

(A) 1 January, 2007

(B) 7 May. 2002

(C) 22 December, 1999

(D) None of the above

70.

71.

72.

/3.

74.

75.

76.
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Whom among the following is known as
‘Gandhi’ of Uttarakhand ?

(A) Govind Ballabh Pant

(B) Sunderlal Bahuguna

(C) Indramani Badoni

(D) Narayan Dutt Tiwari

Who is known as ‘Garh Keshri’ ?
(A) Badri Dutt Pande

(B) Hemwati Nandan Bahuguna
(C) Asha Ram Nautiyal

(D) Ansuya Prasad Bahuguna

Parimarjan Negi is associated with the game ?
(A) Cricket

(B) Hockey

(C) Chess

(D) Badminton

The meaning of ‘Jagar’ is :
(A) song related

(B)
©
(D)

Population density of Uttarakhand is :
(A) 159 person per sq. km.

(B) 165 person per sq. km.

(C) 170 person per sq. km.

(D) None of the above

Poem or to social

awakening
Entertainment song

War song
None of the above

Who among the following is not related to
*Chipko Movement” ?

(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Basava Nand Nautiyal

(D) Vidyavati Dobhal

The confluence of Alaknanda and Mandakini
river is :

(A) Rudra Prayag

(B) Karan Prayag

(C) Dev Prayag

(D) Vishnu Prayag
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85.
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87.

88.

89.

90.

‘Kauthig’ means :

(A) Fair

(B) Dance

(C) A food product
(D) Cereals & millets

The percentage of agriculture land in
Uttarakhand is :

(A) 20%

(B) 15%

©) 13%

(D) 50%

Nanda Devi National park is situated at :
(A) Dehradun

(B) Nainital

(C) Chamoli

(D) None of the above

Who was the first Governor of Uttarakhand ?
(A) Nitya Nand Swami

(B) Bhagat Singh Kosyari

(C) Surjeet Singh Barnala

(D) Nonec' "2 above

Which of the following tribe practices
seasonal migration ?

(A) Tharu

(B) Boksha

(C) Bhotia

(D) Raji

Gabar Singh Negi is related :
(A) Arjun Award

(B) Paramveer Chakra
(C) Victoria Cross

(D) Mahaveer Chakra

Gori Ganga joins the Kali river at :
(A) Rudraprayag

(B) Tehri

(C) Bageshwar

(D) Jauljibee
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91. Barahoti is located in district ? 91. gnE fra o A Rerg & ?
(A)  Rudraprayag (A) % W
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(D) Uttarkashi (©) gl
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(A) Apple (A) TUdA
Google
E?Z; Micrisoﬁ (B) T .
(D) Allofabove (C) WIgPRITE
(D) IR T
93.  Who is known as ‘Kumaon Kesari’ ? 93. e ¥ 9 fhud TG FE B AW A A
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(C) TEIET Uvey
(D) SRIT A Plg Tal
94.  When Gaura Pant (Shivani) born ? 94. RT Ug (ﬁmﬁ-ﬁ) B T P9 §AT ?
(A) 1913 AD. (A) 1913 _&‘0
(B) 1923 AD. 1923 5‘0
(€) 1932AD. (B)
D) 1823 AD. (©) 1932 30
(D) 1823 0
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(D) Milam Glacier ©) fvert wifdmR
(D) MM TIRRR
96.  Who is known as the father of computer ? 96.  HAYCY P D PHE?
(A) Navghton (A) e
(B) Danis Ritchie :
(C) Charles Babbage B) ofrr Red
(D) james Gosling (C) T T
(D) SR TRAferT
97. *C’ language was developed by : 97. «C’HNT P D & :
(A) Hollerith ) ey
(B) Duckberg f
(C) Armstrong (B) )
| (D) Denis Richie ©) W
| (D) s Rt
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98.

99.

100.
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WWW stand for : 98.
(A) World wide wings

(B) World web wide

(C) World wide wikipedia

(D) World wide web

1 KB is equal to: 99.
(A) 1024 KB

(B) 1024 GB

(C) 1024 Bytes

(D) 1024 MB

Who discovered ‘Facebook” ? 100.

(A) Dustin Moskovitz
(B) Eduardo Saecein
(C) Andrew Mc collum
(D) Mark Juckerberg

e 3k o e ok
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Competitive Examination

Time : Two Hours Maximum Marks :100

Instructions to candidates:

% Answers are to be given on a separate OMR Answer-sheet supplied and NOT ON THIS
QUESTION BOOKLET.

"~ No additional OMR Answer-Sheet will be provided. Candidates are advised to handle it carefully.
Use Black/Blue ballpoint pen for writing and filling the circle(s) on the OMR Answer-sheet.
Darken the circle completely so that the option inside the circle is not visible.

Write the Question booklet code as printed on question booklet on OMR Answer-sheet and
darken the circle corresponding to the Question booklet code.

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make

any stray mark nor write your name on any part of the Question booklet and OMR
Answer-sheet.

Write your Roll Number in English Capital letters only (words and figures both) on the Question
booklet as well as on OMR Answer sheet. Each numeral is to be written in a separate block printed
and darken the corresponding circle below on the OMR Answer-sheet.

Example: Roll Number 2048378139 shall be written as follows:

IN WORDS | TWO | ZERO | FOUR | EIGHT | THREE | SEVEN | EIGHT | ONE | THREE | NINE

INFIGURES | 2 0 4 8 3 7 8 1 3 9

& Rough work is to be done in the Question booklet only.

% Each question carries 1.0 marks. Questions not attempted shall be ignored.
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%~ Darken only one circle corresponding to alternative answer that you choose for each question,
as darkening of more than one circle shall be treated as wrong answer.

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41: What type of mixture is smoke ? gl o5 gHR @1 fasor 8 7
(a) Solid mixed with a gas (a) ¥ ff¥a o
(b) Gas mixed with a gas (b) i fafda
(c) Liquid mixed with a gas (c) i faf¥a g9

(d) Gas mixed with a liquid and a solid ~ (d) %@ 14 31 faf¥@ i

If you think the correct alternative answer is (d), then fill in the relevant column of the same section
of the OMR Answer-sheet as follows:

Correct method Wrong method

SIE/O™

The candidates are strongly advised that in case they come across any discontinuity in the serial
number of the questions/pages in their Question-booklet, they should immediately inform the
Invigilator so that missing pages, if any, may be supplied to them.

S

& Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not
allowed.
Note:
1. There is NEGATIVE MARKING in this examination. For every wrong answer %
mark will be deducted.
2. On giving of two or more than two answer for every question, % mark will be
deducted.

3. Do not write anything except the Roll Number and rough work in this Question
booklet.
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